TR31FE mIEBEREST X MGREE #3550
NBEEB Java OO SV D1
BEYE BRERX
EeEY 68138 (K) 5RB (1#f2#8&@A11)
FH5iAH =k
BRI 2R F HH FESS
K&
=100 &=
(A1) BEFOI|EICEETDRDBREBICEZZL), (& 25t 40)

BRI 1

BHZRDEDICES UTHEAE LIS,

int ans=0, a=2, b=5;
RDENZETULEDEE ans DIEEZBZIE 0N,

(1) ans = ans;

(2) ans = a + 9;

(3) ans = b * b;

(4) ans = b % a;

(5) ans = (b - a) - a;

B2 BHERDKLDICESUIC,

int a;

ROENZRTUILEDE a DIBZB RIS,
(6) a=(1-3);

(7) a = (int)4.e;

(8) a = (int)2.5;

(9) a = ((int)(2.8 * 2));

(10) a = (int)(((double)2) + ((int)2.5));
B3 EHZERDKIDICES UTHIEAE U,

int ans=-1, a=2, b=1;
ROSNEETUILEDEE ans DIEEBZIXU),

(11) a = ans = b;

(12) ans += a;

(13) ans++;

(14) ans += (ans + b);

(15) ans *= ans;

B4 BHERODIDICEE U THEE LIS,

int a=2, b=3;

ROBNEEZTUIZEBEN (true T2IE false) ZBZRIRSU),
(16) System.out.println(a != a);

(17) System.out.println(((a + b) <= 5) == true);

(18) System.out.println(a < b);

(19) System.out.println((b % 2) != 0);

(20) System.out.println((a += b) == 2);
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WIDS—0DEE ITTS—] EHBBERICEZISV), (& 25t 12] O System.out.print(1-2+3);

(1) System.out.println("&H0D" + "H'ED"); ZRTIDE( 5 YERTDINFT, BRIBUZZESE ULVISSICIIXIE
(2) System.out.println("2" - "1"); MERWCHRIBEEZEE LE T,

(3) System.out.println("2" + 1); [ System.out.print((1+2)*3);

(4) System.out.println("2 - 1 ="+ 2 - 1); ZRTIDE( 6 )ERTINZKT,

(5) System.out.println("1l + 2 =" + 1 + 2); WERE X( 2 )( 5 )( 6 )IBHESZTIZE)

(6) System.out.println("1 + 2 =" + (1 + 2)); S0 B HOL) HLLEBN £ R fH
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(1) oxe2

(2) ‘e’

(3) "String"

(4) true

(5) "B"

(6) o101

(7) '¥n'

(8) 1.0e+l

(9) 3.14

(10) -1
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boolean a=[ ___ |;

(1) if(a){System.out.print("A"); System.out.print("B");} else System.out.print("C");
(2) if(a)System.out.print("D"); else {System.out.print("E");}
(3) if(a){System.out.print("F");} System.out.print("G");
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1 System.out.print(1+2*3);

ZRITIDE( 2 )ERTDINET, FC. BEF + VBEEF - DLD

[CEFIRMIDY 3 )BSRBERWZEABNET, CNEDBEFIIELES

import java.io.*;
class Q64
public static void main(String[] args) throws IOException{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
double bmi;
System.out.println("BMI ZAN LT EEL\");
bmi = Double.parseDouble(br.readLine());
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if(bmi < 18.5)
System.out.println("OEEH");
else

if(bmi < 25)
System.out.println("iSD>D");
else
System.out.println("ADEH");
}
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